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DC12v KX-G7100 60mA  KX-G7101
140mA
2)
RS232C
(Hyper Terminal )
( )
Com x(x  232C )
4800bps
Stop Bit 1
Data Bit 8
3)
ctrl KXORB
Serial No. I XXXXXXXXXX
ctrl Q Y
4.2.
3
1) DTEWIN
2)
3)
4.2.1. DTEWIN
4.2.1.1.
DTEWIN KX
2
1)
2) ctrl KXORB
3) >)
KXUTC=9,0,yy,mm,dd,hh,mm,ss
Gy )
KXLED=1 ON
KXS06=2 / DTE
4) Ctrl Q
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DTEWIN
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NCC) X
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“Message Delivery Succeeded to ST”

“Message Delivery Succeeded to NCC”

“Message Delivery failed to NCC”

DTEWIN
Error Code 0K
) 0K
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KXMO1=How are you?
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3)
DTEWIN No. of unsending msgs
Send Log
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( =0mA) OFF — ON
KXB KXB KXS37=0
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( =0mA)
OFF - ON
KXB00=0
4.2.3. (KX-G7101 )
GPS
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5)
OFF - ON
KXB00=0
4.3.
4.3.1.
4.2.1.1
4.3.2.
xxxx@orbcomm.ne. jp
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2) DETWIN
DTEWIN
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